
DORMA RP DOR 85 EN 4

M6x16

"A
"

vu
e 

"A
"

R
TS

 8
5

E
N

4

A
xe

 a
llo

ng
é 

de
 5

 m
m

co
up

e 
C

-D

"B
"

"F
"

vu
e 

"F
"

M6x20

vu
e 

"B
"

D

R
P

 5
1

4
6

R
P

 5
1

4
6

R
P

 5
1

4
7

Ø
3

6
10

4
6

6
5

R41

18.5

8 18.550

4

6
5

6
5

7
5

5
0

4
5

2
0

28

6
5

2
0

0

3
2

5
2

5
2

5
2

45

R
P

 5
1

4
7

30

4

C
5

2

1
0

0

28

W
N

0
5

8
1

4
4

4
5

5
3

2
0

8
/1

1

m
ax

. 1
10

0

D
O

R
M

A
 G

m
bH

 +
 C

o.
 K

G
P

os
tf

ac
h 

4
0

0
9

5
8

 2
4

7
 E

nn
ep

et
al

EN
 1

15
4:

19
96

+A
1:

20
02

0
4

3
2

C
P

D
 0

1
6

3
-

1
1

3
8

4
1

1

D
an

ge
ro

us
 s

ub
st

an
ce

s:
 N

on
e

4



DORMA RP DOR 85

M6x16

R
TS

 8
5

E
N

4

A
xe

 a
llo

ng
é 

de
 5

 m
m

co
up

e 
C

-D

"B
"

7
5

5
0

4
5

2
0

6
5

2
0

0

vu
e 

"A
"

vu
e 

"F
"

D

R
P

 5
1

4
6

R41

18.5

8 18.550

6
5

45

C
5

2

1
0

0

4
6

R
P

 5
1

4
6

6
5

"A
"

vu
e 

"B
"

30

4

R
P

 5
1

5
3

"F
"

M6x20

Ø
3

6
10

6
5

28

3
2

5
2

5
2

5
2

28

m
ax

. 1
10

0



27 mm

Zone à gruger
18 x 46 mm

Zone à gruger
18 x 40 mm

Fixation par soudure bouchon

260 mm

DORMA

pour vis M6 x 20

pour cheville M6

Zone à gruger
18 x 42 mm

gabarit pour axe au sol

1111 1112

11141113

RP DOR 85



B

A
B

A

DORMA

C

CD

D

1116

1117

RP DOR 85

2.

min.
80% A

A

1.

3.

M 7= 15 Nm
M 8= 20 Nm

1115



Ä
n
d
er

u
n
ge

n
vo

rb
eh

al
te

n
S

ou
s

re
se

rv
e

d
e

m
od

if
ic

at
io

n
s

DORMA

20°
1

2

2

20°

1

130°

130°

130° - 20°
12
130° -0°

1118

1119

RP DOR 85

DORMA GmbH + Co. KG DORMA Platz 1 D-58256 Ennepetal Tel. +49 2333 793-0 Fax +49 2333 793-4950
www.dorma.com


